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SOCIOLOGY
PAPER—II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  The collection of roles that goes with a given status is termed as :
(A) Multiple roles (B) Conflict of roles

(C) Role set (D) Summation of roles

2. Which of the following is not an agency of Socialization ?
(A) Family (B) School
(C) Media (D) Police

3.  Re-Socialization takes place when a :
(A) Child is born
(B) Child starts going to school
(C) Girl gets married
(

D) Person joins a revolutionary movement

4.  Match the concepts with the sociologists. Use the code given below :

Concepts Sociologists
(a) Cultural lag (i) C.H. Cooley
(b)  Primary group (ii) R.K. Merton
(c) Manifest function (iii) W.F. Ogburn
(d) Organic Solidarity (iv) E. Durkheim
Code

(@ B (o) (@)

(A) (i) @ @i (@)
(B) (i) (1) () (@)
(©) (Gv) G) @ (i)
(D) ) (v) @) (i)



HHTSTITTE

TouA—II
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(A) wTgfae f (B) T 55
(C) Yfwe fa=ma (D) offehT Hahed

2. TaoHifRd § 19 GHSTHR % HieE T/ 2 ?
(A) wRER (B) femrmer
(C) &R (D) Yfew

3. QSIS Bl € 5
(A) TH =TT BT g
(B) &= faeimerd SH1 IRY i B |
(C) T Feordt 1 forame B
(D) Teh AT fordlt Shifderrdt e o et 2 S €1
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LR LLISNIEZPl
(a) WiEpfas fUse () ¥HTE Fa
(b) TAfHE TE (i) SR, AwHA
(c) Tel g™ (il) SOLTE. AFTEH
(d) iR HTSW (iv) 3. g™

FHIE:

(@ ® () (@
(A) @) @ (@) (v)
(B) (i) @ G) ()
Q) (@v) @) @ (i)
(D) @) (Gv) @) (i)
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5.  Which of the following represents a sociological perspective ? An attempt to :
(A) Change the social order
(B) Understand the social order
(C) reform the social order

(D) Adjust to the social order

6.  Match the books with the authors. Use the code given below :

Books Authors
(a) Family, Socialization and (i) William J. Goode
Interaction process
(b) World Revolution and (i)  Elizabeth Bott
Family patterns
(c) Family and Kinship in (iii) Talcott Parsons
East London
(d) Family and Social Network (iv) Young and Willmott
Code :

(@ (b)) (0 (@)
(A) @) (@Gv) @ (i)
B) (Gv) @) @) G
Q) (i) @  Gv) (i)
(D) () G @ (@)

7. Which of the following in not a “functional pre-requisite” of society :
(A) Adaptation to the environment
(B) Goal attainment
(C) Pattern maintenance and tension management

(D) Social disjunction

D—0506 4
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8.  Match the form of marriage associated with the communities listed below. Use the
code below for your answer :

(Forms of marriage) (Community)
(a) Cross - Cousin (i) Muslims
(b) Parallel - Cousin (ii)) Dvija Castes
(c) Polyandrous (iii)) South Indians
(d) Hypergamous (iv) Todas of Nilgiri Hills
Code :

(@ @B (o (@)

(A) (@v) (@) @) (i)
(B) @) @) (v) (i)
(©) (@) @) @ (@)
(D) (i) (Gv) G) ()

9.  According to M.N. Srinivas a dominant caste is one which enjoys :
(A) Numerical Strength
(B) Economic Power
(C) Political Power
(

D) Economic, political and ritual status

10. Which one of the following feminists made the statement that “One is not born, but
rather becomes a woman” ?

(A) Simone de Beauvoir (B) Margaret Mead
(C) George Herbert Mead (D) Betty Friedan

11. The factors of social change include :
(i)  Science and technology
(ii) Ideas and ideology
(iii) Culture and education
(iv) Evolution and progress
Find the correct combination according to code :
(A) (i) and (ii) (B) (ii) and (iii)
(C) (), (i) and (iii) (D) (i), (ii), (iii) and (iv)

D—0506 6
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11.
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(c) gufd foams (iii) e WA
(d) oTam faamE (iv) iR weiteat o e
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(A) AT HI ATHA

(B) s wife
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(A) (i) 3R (i) (B) (i) &R (i)

(C) (i), (i) AR (iii) (D) (i), (i), (iii) 3 (iv)

D—0506 7 P.T.O.



12. The “Pygmalion effect” refers to :
(A) Division of labour based on sex
(B) Redefinition of self to conform to wishes of husbands
(C) Sexual harassment at work

(D) Wife battering

13. Which one of the following sociologists made the statement that “When the rate of
social mobility is low, class solidarity and cohesion will be high” ?

(A) Emile Durkheim (B) Max weber

(C) Ralf Dahrendorf (D) Anthony Giddens
14. In an industrial society occupational status is :
(A) Achieved (B) Conferred

(C) Ascribed (D) None of the above

15. Match items in List - I with items in List - II. Use the code for answer :

List - 1 List - I1
(a) Law of three stages (i) Herbert Spencer
(b)  Theory of Socialization (ii) Durkheim
() Mechanical Solidarity and (iii) Max weber
Organic Solidarity
(d) The law of Evolution (iv) Auguste Comte
Code :

(@ () (0 (@)
(A) (v) (i) @G) (@)
(B) @) @Gv) @ (i)
Q) (i) @  Gv) (i)
(D) () G @ (@)



12.

13.

14.

15.
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(d) SEforehm & fagr (iv) ST B
HIT:

(@ B (o (@)
(A) (v) (D) @) (1)
(B) @) @Gv) @ (i)
Q) (i) @  (Gv) (i)
(D) () @) @ Gv)
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16.

17.

18.

19.

Stratification is socially patterned because :

(A) The norms have to be taught anew to each generation

(B) Norms and sanctions maintain the social order

(C) Political, religious, economic and educational institutions are affected
(D) All the above are true

Match the following statements with their authors. Use the code given below :

Statements Authors
(a) Social structure is a reality (i) Levi Strauss
in itself
(b)  Social structure in a logic (i) Talcott Parsons

behind reality

(c) Social structure is a stable (iii)) Radcliffe Brown
system of social interaction

(d) Social structure is a unit of (iv) S.F. Nadel
analysis for explaining
inter-personal relationships

Code :
() b)) () (@)

(A) (@v) (1) (@) (i)
(B) (i) (@ii) (v) ()
(©) () @ 3D (@)
(D) @i (i) () (D)

Which of the following is a probability sampling design ?
(A) Quota sampling (B) Snowball sampling
(C) Cluster sampling (D) Purposive sampling

Who among the following developed a mode of analysis in sociology called functionalism ?
(A) Nadel (B) Levi - Strauss
(C) Durkheim (D) Pareto

D—0506 10



16.

17.

18.

19.
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20.

21.

22.

23.

24.

25.

Which of the following is not a function of a research design ?

(A) It provides the researcher with a blue print for studying social questions

(B) It dictates boundaries of research activity

(C) It helps in the interpretation of results beyond its frame of reference

(D) It enables the investigator to anticipate potential problems in the implementation
of the study

Who among the following is not a structural functionalist ?
(A) Durkheim (B) Radcliffe Brown
(C) Parsons (D) Malinowski

Gender roles exist in society due to :
(A) Socialization

(B) Biological differences
(C) Lower status of women
(D) Iliteracy

The case study method is used for data collection when the sample is :
(A) Very large

(B) Very small

(C) Small and in-depth data is required
(D) Very dispersed

Rewards and punishments associated with role expectations are called :

(A) Norms (B) Values (C) Mores (D) Sanctions

Which of the following factors is not associated with the changing nature of conflict in
modern society ?

(A) More opportunities for individual advancement

(B) Industrial and technological advancement

(C) Less need for class formation to improve economic standards
(

D) Social ascendence through competition is easier than through class struggle

D—0506 12
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21.
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26.

27.

28.

29.

The consequences that flow from inequalities in property, power and prestige can be
classified as :

(A) Life chances (B) Life styles
(C) Values and Ideologies (D) All the above

Assertion (A) : Researchers who use questionnaires regard them as a comparatively
cheap, fast and efficient method for obtaining large amounts of data
on relatively large numbers of people.

Reason (R) : Questionnaires provide data which can be easily quantified.
Choose the correct answer from the given code :

Code :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

Assertion (A) : Minority groups often develop mistrust of the majority.

Reason (R) : Minority groups are frequent targets of prejudice and discrimination.
Choose the correct answer from the given code :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : According to Marx class membership is determined by a person’s
position in the economic system.

Reason (R) : Class conflict is a necessary result of the exploitation of one class by
another.

Choose the correct answer from the given code :

Code :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

D—0506 14



26.

27.

28.

29.
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30. Assertion (A) : Functionalism views society as a system, that is, as a set of

interconnected parts which together form as whole.

Reason (R) : Institutions such as the family and religion are analysed as a part of

the social system rather than as isolated units.

Choose the correct answer from the given code :

Code :

(A)
(B)
(©)
(D)

(A) is true but (R) is false
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) is false but (R) is true

Both (A) and (R) are true but (R) is not correct explanation of (A)

31. Assertion (A) : Education’s main function is to transmit the society’s dominant culture.

Reason (R) : Cultural goals and values differ widely both among and within

societies.

Choose the correct answer from the given code :

Code :

(A)
(B)
(©)
(D)

(A) is true but (R) is false
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) is false but (R) is true

Both (A) and (R) are true but (R) is not the correct explanation of (A)

32. Assertion (A) : According to Marx exploitation and oppression of some by others

can be brought to an end only when the form of production are
communally owned.

Reason (R) : The ruling class derives its power from the ownership and control of

the forces of production.

Code :

(A)
(B)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) true but (R) is not the correct explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

16
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TS o ot 9 ferar Bt ®

Yo His H W Fel IR T T hife

Fie:

(A) (A) T& & TR (R) T & |

(B) (A) Wd (R) TMI WEl § IR (A) &1 (R) W TS T |
(C) (A) T & FR (R) T &

(D) (A) W& (R) ST T § AR (A) & (R) HEl ST T2 & |

32, AMUFRYT (A) : TH & STIER FB AN & g U o W0 TH 3cdled i FHIG T 2
Hehdl & ST6 ICATGH i ITBAl b1 TS HHGIHS BT |

% (R) : I o7 YT Wi SR & Ul & WA q7 39 W a5 & um
F 2 |

Yo HIs H W Fel IR 1 T hife :

FiS:

(A) (A) 3R (R) SHI &l € T (A) FT (R) T TIHW |
(B) (A) 3R (R) SHI Wl € WY (A) F1 (R) &I T a1 ¢ |
(C) (A) | € W (R) Tord

(D) (A) TT&d T T (R) I €|
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33. Assertion (A) : The situation in which a person is faced with demands from two
or more roles that do not match is called role conflict.

Reason (R) : Role conflict is not common in traditional societies where each person
plays a limited number of roles.

Choose the correct answer from the given code :

Code :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

34. Assertion (A) : The participant observer joins the everyday routines of those he/she
wishes to study.

Reason (R) : The observer attempts to observe action in its normal natural context.
Choose the correct answer from the given code.

Code :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

35. Assertion (A) : Personality system is integrated into social system through socialisation
and social control

Reason (R) : Socialisation helps actors to develop motivation and skill to play the
roles and social control provide secure stable inter-personal ties.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

D—0506 18



33. efaeRer (A) @ UE feufa ST fohelt asa & <1 ot gud stfuss yfgertedi 1 fam o i
I ST T S IR A e @t at 3§ qfHeRt Sed et S |

T (R) : IRSIE TSI H fHehT Hord WA= T gl § seifch T8 TSI § Yo
= Hiffra ogfentell 1 & frama €1

TS IS H © HE ISR 1 TIA HIWT :

Hg:

(A) (A) T § TR (R) T 2|

(B) (A) Td (R) I TEl T iR (A) 1 (R) TET TIHHI T |
(C) (A) Ted & FR (R) T &

(D) (A) W& (R) ST Tl § AR (A) & (R) HEl ST T2 & |

34, SAMURYT (A) : HSIFH AT 579 a5 1 TAIT HIAT ARl 8, T8 39 i 8 IS i

feerat & wnfe g

qeh (R) : THAeTE T FI T ¢ o 6+ 39 =, UrRfas ded # & <@
i

TS IS H © HE ISR T TIA HIWT :

Hie:

(A) (A) T & ¥R (R) T g |

(B) (A) Td (R) I TEl T iR (A) 1 (R) TET TIHHI T |
(C) (A) Terd § TR (R) ¥ R

(D) (A) Td (R) ST Tl § AR (A) & (R) HE TIEHTT T2 & |

35. 3fHRIT (A) : Afhed TN T HHINSIR HoLel U TehihU SR 99T TSI
frm & g ear 21

q&h (R) : HrTSTeRel SifeRsienl W N TS qardl faefad s 3% fHent o1a1 A |
Tee YT § 91 WIS =01 il & o= & Geiel § Tenfaerar o €1

Yool IS B 9 TE S9N T TIT HIFST :

Hg:

(A) (A) T (R) M1 & € S (A) F1 (R) T T € |
(B) (A) Td (R) TMI HEl § AR (A) &1 (R) HEl TIEHTT T & |
(C) (A) T&l & FR (R) T & |

(D) (A) 7@ § AR (R) HEl & |
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36.

37.

38.

Assertion (A) : Reconstruction of tradition is an important element in the development
of ethnicity.

Reason (R) : Tradition may be reconstructed for using it instrumentally for nation
building and economic development.

Choose the correct answer from the given code :

Code :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) Both (A) and (R) are true and (R) is the correct explanation of (A)

(D) (A) is false but (R) is true

The following statements have a bearing on one another. Arrange them in the order of
their precedence or sequence :

(i) unequal access to basic life chances

(ii) segmental social order

(iii) transmission of unequal advantage through generations
(iv) Difference in wealth

Code :

(A) (), (i), (iii), (iv)

(B) (i), (@), (iv), (iii)

(C) (i), (iv), (@), (ii)

(D) (i), (iii), (@), (ii)

Identify the right sequence of the following thinkers who contributed to functionalism
in the chronological order :

(A) Parsons, Merton, Durkheim, Spencer
(B) Merton, Durkheim, Spencer, Parson
(C) Parsons, Spencer, Durkheim, Merton

(D) Spencer, Durkheim, Parsons, Merton

D—0506 20



36.

37.

38.

AR (A) : IOl & fowm # TRay 1 EHA T Teaqul ad ¢ |

qeh (R) : T % YAHIO 61 SEHT Y F0707 qen stfefes fasm & SR & €9
IERIES IR

Yool IS U T T SR &1 91 HIFGT

(A) (A) 9& € TR (R) 7TeTd B
(B) (A) TS (R) i Hel € TR (A) & (R) Tl TIBIHT &l & |
(C) (A) TS (R) Hi Tl € TR (A) &1 (R) TET T B |

(D) (A) 7o ® ¥R (R) T B

FSIfohd e Toh T & HaTHd 1 $% STIATHH 31a1 3TIHY o TIHR Fafeed Hil

() Hifersh ST TaER i SR A Tgd
(i) IS HHS T

(ili)  STEEM o4l 1 HE < Tl &l
(iv) F=afs =t faera

Hig:

(A) (), (ii), (iii), (iv)

(B) (i), (), (iv), (iii)

(C) (i), (iv), (), (i)

(D) (iv), (ii), (i), (i)

YHTIATE o & H IRME < aTel FeAfarad fawaenl &l HIhAER & %4 # faf=d &

(A) YRHH, HA, g«eﬂH, T

(B) WA, g{du-l, Y, Ry

(C) URE, T, T, WeA

(D) TR, ST, YR, AL
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39. Arrange the following concepts as they are sequenced in Talcott Parsons’ theory of
social system. Use the code given below

(i) Latency
(ii) Integration
(iii) Adaptation

(iv) Goal Attainment

Code :

(A) (@ @) () ()
(B) G (i) (v) (D)
(©) (@) (Gv) G) ()
(D) (@v) (@i G) ()

40. Choose the correct sequence of following concepts in the order of increasing
complexity :

(A) State, Society, Community, Association
(B) Community, Association, Society, State
(C) Association, State, Community, Society

(D) Society, State, Community, Association

41. Arrange the following concepts in the correct logical sequence as they appeared in Ralf
Dahrendorf’s theory of conflict. Use the code given below

(i) Interest groups

(ii) Ruler and the ruled

(iii) Conflict

(iv) Imperatively coordinated groups
Code :

(A) (1) @) (v) (i)

(B) (i) (v) (i) ()

€ Gv) @ @) (i)

(D) Gv) @) @) (i)
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39. fieAfafEd STagnmsti &1 39 H7 § T B o9l Jeihic TREH 7 T TS Faedl 6

fagr ¥ Haeg fean g1

(i) ST
(i) THIH

(iii) STIRT

(iv) <&I-gIH

FHiS:

(A) (1) @G) (i) (iv)
(B) () @) (@v) (@)
(©) @) Gv) G) @)
(D) (Gv) @) G) @)

40. 9Ed Sfeedl & HATIR FTsAifchd STAIRUMST I T HL |
(A) T, G, THEME, 99
(B) HHSH, HH, §HN, T
(C) HH, TF, GHSE, THIS

(D) U, T4, GH<H, 9

41. frsafafea saumomst w1 35t @fhes H9 § © {59 7R T @S A7 19+ god & fagr
el S
() feaa
(i) IMEE TH wniEd
(i) d=d
(iv) TSIy gaf<d qHg
FIT:
(A) @@ ) @Gv) ()
(B) @) (Gv) @) @)
Q) (@v) @ @) (i)
(D) (v) @) @) (3D
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42. Match the following ideas with their authors. Use the code given below :

(a)
(b)
(c)
(d)

Ideas Authors
Pattern variables (i) Pareto
Type of social Action (i) Talcott Parsons

Logical and Non - logical actions

Symbolic Interactionism

Code :

(a)

(iii)

(c)
@)

(iii)

(i)
(i)

(iii)) G.H. Mead

(iv) Max Weber

(d)
(iif)
(iv)
(iv)
(i)

43. Match the following authors with their concepts :

List - I

(Authors)
(a) Pareto
(b) Blumer
(c) Collins
(d) Nadel
Code :

(a) (b)
A) @@ ()
(B) (i) (i)
(©) (@) ()
(D) @) ()

D—0506

(c)
(iii)
(i)
(i)
(ii)

List -11
(Concept)
(i) Conflict
(i)  Social action
(iii) Structuralism

(iv) Symbolic interactionism

(d)
(ii)
(iv)
(iif)
(iif)
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fay

o

42, Trsafafed goEl &1 376 a@® § S|

(a)
(b)
(c)
(d)

HIS:

(A)
(B)
(©)
(D)

[0 aa®m
EIGRIERCTS i T
[T 51 & gaR (i) TR TREAH

difeher Uel STaifeher AT (i) <i.T=. HiE

PEARES Gi'dr%?‘ﬂcllq

(i)
(iv)

(b)
(iv)

(ii)
(i)
(iif)

(c)

(iii)
(ii)
@)

(iv) B9 IR

(d)
(iif)
(iv)
(iv)
(i)

43. Trsafafaa stamonsti 1 37 d@e 9 S

e -

(FGF )

Eo
TR

I

Hifcrd

e

(a)
(i)
(i)
(i)
(i)

(c)
(iii)
(i)
(i)
(i)

e - 11

( STFERT )
(@) o
(i) g e

(i) HEAER

(iv) WdlehTcHe STfhararg

(d)
(i)
(iv)
(i)
(ii)
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44. Arrange the following concepts in the order in which they were first used in sociology.
Use the code given below :

(i) Primary group

(i) Gesellschaft

(iii)y Bureaucracy

(iv) Social fact

Code :

A) @@ @) 3 (Gv)
B) @G) @@ 3G ()
© Gv) @@ @ (i)
(D) G @) (Gv) (i)

45. Match the authors and their books. Use the code given below :

Authors Books
(a) Lewis Coser (i)  The Functions of Social Conflict
(b) Ralph Dahrendorf (ii) Class and Class Conflict in Industrial Society

(c) Karl Marx and F. Engels  (iii) The communist manifesto
(d) Randall Collins (iv) Conflict Sociology
Code :
(@) () () (@)
(A) @G @@ @ (@)
(B) @) () @Gv) (@)
© @ @ @b ()
(D) (Gv) () @) (ib)
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44, TrAfafEa sauromsti &1 39 %1 1§ 95qd &, 9 7 1§ g7 Gurene § ggal IR gan e

o)
() e ¥g (IEEd 9)
(i) g

(i) TTRERT (SAkET)

(iv) =S 9o (Ha hee)

(A) @ (D) (@) (Gv)
(B) (i) (@) (@) ()
(©) @v) @i @) (i)
(D) i) @ (@v) (i)

45. AGHI HI IAH T 9 AL |

iced qETH
(a) Tfo" HIsK () T R ATh THa oo
(b) & SEHSH (i) O TUE SO heoiiee 31 Seida Ardrgel
(c) Faed 3R we. TSieq (i) T Fegfe HTRE
(d) e wifad (iv) heciioe Hifgarers

(@ (b)) (© (@
(A) (i) @G) @ (@)
(B) (@) (i) @Gv) (@)
© (@ G (@) ()
(D) (@v) (@) @) (i)
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46.

Read the passage below and answer the questions that follow based on your
understanding of the passage :

It is time to look at what education actually does in our society, keeping in mind
the distinction between the conscious aims of education and the unintended
consequences of educational organisation.

We can begin by examining the significance of the values and skills that are
imparted by education. There is a definite link between education, the economy and
society, and that each influences the development of the other, but we need to
understand more clearly what the nature of this relationship is.

Skills can be dealt with first. Education trains in skills that are required by the
economy. The full significance of this is often forgotten : the relation between the
economy and education can be an exact one. For example, the number and productive
capacity of engineering firms are limited by the number of engineers produced by
education. This applies to most fields of the economy. This exact relation between
education and economy means that in a modern planned economy the output of skilled
people must be consciously geared to the economic and social priorities of the society.
The output of doctors, scientists, teachers and so forth must be and often, is planned
years in advance to meet projected economic and social requirements.

The skills learnt in education have wider significance than the narrowly economic
significance we have discussed so far. Consider a developing Country. One important
goal in these countries is the fostering of participatory democracy. Participatory
democracy in any large and complex society depends on literacy. Literary allows full
participation in the mass media and effective voting . Literacy is a product of education.
The state of an educational system thus has political as well as economic significance.

Education is also important for the values that it imparts. In most developing
countries a large part of the school curriculum is organised around courses and contents
designed to impart the values of national integration. The history and customs of the
ethnic groups composing a national will, for example, receive close attention. In most
nations which face problems of trying to weld together distinct groups of people or
distinct geographical areas the educational system is under close state supervision and
is required to deliberately communicate common national values. Education can thus
be an integrative force in society by communicating values that unite different sections
of that society.

The author basically aims to examine the :

(A) Relationship between education and society
(B) Major functions of education

(C) Interface between education and economy
(

D) Politics of education
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46.

[SAATCTRETT TTEnT9T W1 Ulgy 3iiT 39 TE9T Tt WHET YT SR F91 T I T -

3T 78 ST F1 GHA § T 9187 o sAR Iu o <o e R W R 1 UE R g9 B
foren o W= el den Sifete WA & STaTe IROTHl H 95 AT 2|

o1 g foaam ST aret godi &R foggwae (Rwas) & 78 &1 7ev & § 74
SHT YRS F Thd § | Tnem, sref-=qazen wd 9O & o9 U@ ffved wt ® SR U &
IR W 3T 1 Y9G ISl §, TR W I8 AT TIa1 § I8 THSMH hi SAEvIHhdl ¢ fh T9h
o fgdi %1 @y = § )

fagewaaetl (feras) &1 Teat foran S wehan © 1 fen 37 %t # Frerar I it €
Tht stel-raen | STaashdl Bl € | S8 U1 Ao &l UHa: Yol foan S |

aref-omerEen 3R e & o9 1 ooy 9ish B Hehdl § | SSeud:, SSiiIad WAl hi
fiTTet Te Seh1 Scarea-amHed foren g0 9o fohd u SSifad ot fimet el § 1 =€t o ered-
AT & T & W AR el © | To1aT T eref-een & o9 39 W ooy ¥ AfYI™ I%
g Tof styfres FifoTa stef-=aen # 90 &1 oTfYfs Ua AT STavasharstl & STT9R TS
yaTd g faged =afe (Rers diuet) TOR fFa S | Sse, a31fehi, Seamdehi g &l fhg
At & TR fohen ST s9eRt e Afamedaan, TH 9 8 €, 9gd 9eal o1 @ SITe difeh
Hoyrfad eTfefe Td AmiSe Savaehdiet i 90 fohar S e |

Toren & oTia WE fagewarstl (ferast) &1, 39 HifHa stifdies wewa, fae! == &
39 T HI ST &, i TUeT Sl fasqd Hesd €| U foshmasiial <o =+ ofifee | T < 1
eV T8 IE ¢ Toh YT TlTa— o sferen fear e | fhat faemet wd sifeat woms o wguwit
TSI HIERAT TR 7R 301 € | WiaRal S -H1eHi T §qet T § 9 A feadt € 1 e
foren =t SU= €1 39 WhR fondlt Sifersn sqaeen =1 feufa, 1 Torifas o enfele Tesa g 71

o1 o1 HEsa sHfaT off € f 9% ol o foeard €1 9gd 9 fasmmeia o | @
TIIHH 1 TS 9R 91T 39 hrEl IR Fh & § il wfed fan siman © 59 st w&har &
el &1 faEems <7 o faT a9 S €| g ehed 1 991 a1l S 96l % sfaee e
Tfq- st T 3TR IS, sga e e S 8 1 9ga 9 U °, 5eh @ et sH-ael
%1 THTY T 1 THET § 791 1 ol Toe diifere &5 Sl $ohel WA & TR 9 SE R B,
ITent feTeh SaEN W T &1 el (e Tl 8 IR T3 & 9160 g gl ol 9od &9 §
oI 1 & | 59 YR fren 99 | U el il H9R hich 9 o - e gl o sired
% fou T &t ufe o9 Gahdt § 1

TEE H A A&F I TH0 HIAT © T -
(A) Toren v TuS H IR S ey R
(B) Toten & yq@ =rd

(C) Tien U9 S7Y-Haweq & YREIRE Foers
(D) Toren =t Toifa
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47.

48.

49.

50.

According to the passage which of the following are the functions of education ?
(i)  Imparting the values and skills

(ii) Facilitating industrial development

(iii) Arousing political consciousness

(A) (i) only (B) (ii) only

(C) (i) and (ii) only (D) (i), (i) and (iii)

The unintended consequences of accelerated educational programme in developing
countries have been the :

(A) Fast economic growth
(B) Growth of social tension
(C) Political mobilization of marginalised groups

(D) Increased rate of literacy

The issues raised in the passage could be appropriately used in favour of argument for :
(A) Increased funding for elementary education

(B) Expansion of technical education

(C) Increased emphasis on women'’s education

(D) Overall growth of education

The supervision of education by the state has been advocated by the author to
achieve :

(A) National integration (B) Geographical Unity
(C) Ethnic uniformity (D) Social Cohesion
-00o0-
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47.

48.

49.

50.

STI® TN % STER feAfafed § & foren & a1 ®F § &6 §2
() ool e fagewmaed (ferast) =t fage &

(i) TNt fama =1 g sAmE

(ili) ST =T i SIEA Tl

(A) haa (i)

(B) S (ii)

(C) Had (iii)

(D) (), (iD), (iii)

foermasita <o o g et FE%HT & =R 9o §
(A) g Sf=nfirs s=ifa

(B) WIS a9 @ # gfg

(C) WM=IF Tl I YSHITaR daTerd

(D) HeRdl & W H gig

I TS H 33@ M YA k1 3 w4 @ 39 q F v H wed fRa o gk €
(A) IR foren & fau iR e1fyer = g2 &en

(B) Teh-ilenl T8t 1 JER

(C) i foen R atfere o

(D) firenm =1 9wy 3=t

T g e & fdero e oges = vy foren aife Suerey @ ¢

(A) Tfga T (B) iiiiferer wema
(C) S §9El | Al (D) SIS dE=d
-00o0-
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